@ Bruch mit ganzer Zahl multiplizieren [3]
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Aufgabe 1 Aufgabe 2
3 6
1. 4 ¢ 3— = 1.9 e 4— =
7 9
8 4
2.8 ¢ 66— = 2.9 e 4— =
10 6
7 4
3.3 ¢ 2— = 3.9 e 4— =
10 10
8 9
4.8 ¢ 2— = 410 e 8— =
10 10
3 8
5 5 i 3— = 5 6 ° 2 — =
9 9
Aufgabe 3 Aufgabe 4
5 9
1..10 ¢ 4— = 1..10  9— =
8 10
4 7
210 o F— = 2. 7 e 3— =
5 8
18 8
3. 10« 1— = 3.9 e F— =
20 10
3 7
4. 7 e 22— = 4.8 e 3— =
7 8
7 9
5 10 ¢ 1— = 5 4 e 2— =
10 10
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Aufgabe 1
1. 4 o
2.8
3. 3 e
4. 8 e
5 5 e
Aufgabe 3
.10
2,10
3. 10 e
Lo F e
5 10
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Bruch mit ganzer Zahl multiplizieren [3] | ANTWORTEN

Briiche

Aufgabe 2
5 6
= 13 — 1 9 o 4— 42
7 9
2 4
= b4 — 2.9 o 4 — 42
5 6
1 4 3
= 8 — 3 9 o 4 — 39 —
10 10 5
2 9
= 22 — 4. 10 o 8 — 89
5 10
2 8 1
= 16 — 5 6 ¢ 2— 17 —
3 9 3
Aufgabe 4
1 9
= 46 — ... 10 » 99— 99
4 10
7 1
= 78 2 F e 33— 27 —
8 8
8 1
= 19 3. 9 o F— 70 —
10 5
7
= 17 4 8 o 33— 31
8
9 3
= 17 5 4 e« 22— 11 —
10 5
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